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2
=\V3+2v2=v2+1 (&)
7 ALy T _(_ 1)
) T TR O
i)
41 (T
SmﬁW—sm{Mr (3+4)}
e (T LT e T T T T
= —sin 3+4) sin cos4 cos3sm
_oV3 1 1 1 V341
V2 o2 2 2v/2

e (545))
cos 127r—cos 47 3+4
:cos<£+£)=coslcos£—smlsmﬂ
3 4 3 4 3 4
_l, 1 V3 1 1-V3
2 V2 2 2 2v/2
== (%)



.41 V246
S L - (/2R
12 cos%w V2 -6 (V2 —V6)(vV2+V6)
4
=24+vV3 (%)

(8)  450° = 360° + 90°
THhHN"H

sin450° = sin90° = 1 (&)
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(£31) = cos{(90° — (o — B)} = sin(a — )
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=cos” 0 (sm&cos 3 +cos€&1n23) + (cos&cos 37r banSHl 3 7r)
=cos? 0 — (% sin @ + @cos&) + (—%cos@— @Sinﬁ)
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[9] (1) X =sinz B L, (7272L, -1 X <)
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cos2x —sinx =0
1-2X?2-X=0
2X?+X -1=0
22X -1)(X+1)=0



(2) X =tanz £B< &,

2tanz 2X
tan 2o = =
ansr 1 —tan?x 1— X2
kb LoT,
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2X
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2X +X(1-X?) =0
X3 -3X=0

X (x-v3) (x+v3) =0
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(4) sin2z = 2sinzcosx THAHDT,
sin2z — V3sinz > 0
2sinzcosz — V3sinz > 0
sinx (2cosw — \/§) >0

L oT, KoDHEM
3

[sinz >0 222 cosw>—J F/-0t

f

[sinz <0 7D cosz <

TH5.
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(i) sinx >0 #»2> cosz > ? DL,

THR1EY, 0<z< L

6
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T2 X0, 7r<x<%7r
(i), (i) £V, KDZ 2 DEOHPHIL,
O<w<%,ﬂ'<w<%ﬂ' (%)

Y
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[10] 72°=36°x2 &V,
cos 72° = cos(2 x 36°) = 2cos? 36° — 1
F72, 36°=180°—72°x2 &0
08 36° = cos(180° — 72° x 2) = —cos(72° x 2) = —(2cos? 72° — 1)
= —2cos?72° + 1

OE@IZRALT
r=-20222-1)2+1

BHLT

8zt — 82 +24+1=0
822(2? — 1)+ (x+1) =0

8z%(z +1)(x — 1)+ (z+1) =0
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(x+1)(2x — 1)(4a? =22 —-1) =0
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x>0&0 x—%7 1+4\/5
ZoT, x_%@ké @&y
(3) -1=-3

LihioT, y>0 1Al Lo, oo L2VD
PLEA S

72 4.1 ©1 T.2 # LEVE

4
<axvhb>
WDEHIZ, BEBGIEL T L,
cos45° < cos36° < cos30° &£ 1, 1< V3
V2 2
X o, x:M
4
2 X _ 1
[11] tan 5 +1 2 T i)
2
cos? L = 1 = 1
2 tan® L 41 241
LoT
- L 2 X __ 2
cosx-cos(?x 2) 2 cos 5 11
2 tan =
_ T\ _ 2 2t
tanx—tan(2x7>_ 1—tan2% =1 g
2t 1—¢#2 2t

kXD

2t 1—t2
1+t
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iAnHIERRE

(11 1) @) 0<9<§m, sinf >0 THobDT
sinf = /1 — cos? :\/1—(%)22% (&)

: 71' LT
= sinf cos — +cos€s1n§

i o
bln(0—|—3> 3
_V5 12 V3
3 2 "3 2
V5 + 23 e
- 6 ('=')
S __ 7T 7T N
5 _ T, T
008127r—cos(4+6)
= cos = cos = — sin = sin =
4 6 4 6
_ V2 M3 V21
2 T2 2 9
_V6-vV2
- 4 (.:.)

2
cosa = /1 —sin’a = 1—(%) :%
2
cos 3 = 1—sin25: 1_(%) :_232
kXD,
sin(a + B) = sin acos 3 + cos asin 3
_2.2v2 V51
3 3 3 3
9

= cosacos 3 — sinasin 3

cos(a + f3)
5 2 2 1
3
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()O<a< O<B<—JZV) tana >0, tan3 >0 TH L0 5H

tana = \/#—1:\/ \/——1——
cos? a 2

3

tan 3 = , / 1 =V3-1=v2

cos? ﬁ \/§
3
kLD,
5
tan (a + 8) = tana +tanf +v2 __3\/54-2\/5
_l—tanatanﬁ_l_é V2 2

(3] (1) 0<9<% £, cosd>0THDHNH

_\/ o 1 (AN /9 _3
cosf =+v1—sin“0=14/1 (5) =\ 3 =%

L7255 T
120 — 2 _ox 4 3 _ 24 x
sin 20 = 2sinf cosf = 2 x 5 X5 = 28 (&)
2
cos29:1—281n29:1—2x(%) :—2—75 (%)
7 0<0<Z iy o<l sinl o cosl>oThirs
' 2 ' 2 4 2 ’ 2
sin2ﬁ— 1—cosf _ 1_% 1 sinﬁ——1 (&)
2 2 2 5 2 V5 -
Qﬁ_1+c030_1+%_£ 9 __2 o
cos” o = 5 =—=% COSZ_\/E (&)
5 260 _ 1—cosf
(2) ¢ = tan 2 1+cosf
(1+cosO)t> =1—cosf <= t*+t*cosf =1—cosf
— (t*+1)cosh =1+
cos = 1t (%)
1+ t?
72, BAOLKLY
2 tan & 2t
tan = 2= 5
an 1—taHQg 1—t? &)
THoHNH
2
sinf — cosftang — 1= . 2 __ 2 (&)

14+¢2 1—¢2 1+ t2

(%)



[41 (1) @) sin 46 — sin 20 = 2 cos 20 _5 20 i 40 ; 20
= 2cos 30 sin 0 (&)
(ii) sin 30 cos 6 = % {sin(30 + 0) + sin(30 — 0)}
= % (sin 460 + sin 20) (%)

(2) (i) sin20 = 2sinfcosh L 1),

sin26 — v/3sinf > 0

<~ 2sinfcosf —V3sinh >0
— sinf(2cosh —V3) =0
sinf >0 7nD cosezé
F720%
sinf <0 o cos@§§
L72h%> T,
0o r<o< s (&)
6 6

(i) sin (9+ F) cos (9 — %)
(i £) 02 5) ) s+ 2) - -
=1 {sin (29— %) +Sm%}

X0, Sz onz i,

1sin(9+%)cos(0—%):l
E{sin(%—g)—i—sm%}:l
S {sm(20-F)+1} =1
'sm<29—%):1
~Z<w-L<2Brry
ce=T, 4 %
o 3° 3

>




908 =AM (4)
[ERE
[1] (1) P(V3. 1) L35

r=y/(V3)2+12=2a=%

1Eh e

\/§sin9+cos9:2sin<0+%) (&)

2) P(-1,1) &35k
r=+(-1)2+12 =2, CY:%TF
1Eh e
—sin9+cos€z\/§sin<9+%ﬂ'> (%)

() P@ -3 EFaL, r= JTT (B =VIBEND
2sinf — 3cosf = \/ﬁsin(e-f-a)

N . 3 2
=7 L, sina = ————, cosa = —— S
( v13 \/13) (&)
4 ; T\ _ eoef — s Oain -
(4) s1n<9+ 6) cos f = sin 6 cos 5 + cos 6 sin 6 cos
:ésine—F%COSQ—COSQ
_ V3 1
=5 sin 0 20059

V3 1

= (E) () -ra-

ZHh5

sin (9+ %) —cosf = @sin&— %cosﬂ

— sin (0 + %w) (%)

(5) V2sin 6 + 2sin <9+ %) =/2sinf + 2 (sinﬂcos% +cos0sin%)

=/2sinf + Lsiné—i— LCOSG
V2 V2

= 2v/2sin 6 + V2 cos b



P(2V2.V2) L F5 L, r=1/(2v2)2 + (V2)2 = VIO 225

V2sin 6 + 2sin (9—|— %) = 2v/2sinf + V2 cos b
=+10sin(0 + a)

(fctf L, sina = % cosa = %) (&)

[2] (1) f(z) = —sinz++vBcosz +1 &£B<.

y = f(z) = 2sin (z—|—%ﬂ') +1
EoT, y=flz) DY T T, y=2sine DV T 7% z BOTEHIC —%w,
y BIOESENS 1 SFATRE L /27 T 77200, ROFEHIRDTTH 5.

(2)  f(z) =cos’z + cos2z — 3sinzcosz & B <.
y=f(z)

= ltcosde +C2082x + cos 2z — %sin2x

— 3 (cos2r — si 1_3 Ty, Ll

= 2(005233 sin 2z) + 5 = 2\/§cos(2x+ 4)+ 5

Thobrb, 3, y = cos2e DY T 7% z WOIEHIAIZ —% FATRE) L C

Y = cos <2x+%> &L, IZy AN %\/ﬂ%bfy: %\/ﬁcos (2x+ %) &
1

L, &5y 8oFE A %qzmz;@) L7079 Thy = %ﬂcos (2x " %) +5

TH5.
L7235 T, 77 7 3RODEHH T TH 5.
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(3) f(#) = /3sin (9+ 1) —2sinf &£ BL.

6
y=f(9)
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PDEXY, 2z =0,

<plEE>
ST, cosfx0 L0, Mil%x cos?f THALE

sinf 1
143 x 058~ co20

1+ V3tan6 = tan®6 + 1
tan’d — V3tan6 = 0
tan f(tan 6 — v/3) = 0
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